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S - B SR(S0) - MRAEY - BaS Of o o HIDS

gdstsi 5,313,553 5,539,143 N225,590
GAsiSHA 2= 744,500 275,050 469,450
gdstis Al &4 744,500 275,050 469,450
Aeelryerd 86,000 14,000 72,000
307 @z2told 86,000 14,000 72,000
02 QFHEx 82,000 14,000 68.000

O Hel2oi e A 8 29 400,000& = 30& * 12l 12,000

O o=ae IEE 5ddMY 29 30,000,000 * 14 30,000

O gdsts XA 28 29 20,000,000& * 14! 20,000

O dusIA Sd s 10,000,000 * 14 10,000

O =3tSHA AFWE 10,000,000& * 14 10,000
04 QIZHHALE X 4,000 0 4,000

O == - ZAME23 ATE A X 4,000,000 * 14 4,000
ANl Zatdeerat 378,000 130,000 248,000
201 €Bt=2gH] 35,000 0 35,000
01 AtF2tclHl 35,000 0 35,000

O get=EH| 35,000

o AAL OPJHHIOI WAAH 2E 35,000

ZOF QI 400,000& * 502l 20,000

— DVD M= 10,000,000& * 14 10,000

- ZSdotE, Y, cI= N 100,000& * 502/ 5,000
307 @z2told 343,000 130,000 213,000
02 QtFHEx 343,000 130,000 213,000
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SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
O YA OLIHOHIOI - AT 2F 28 78,000
= & 7l 3,500,000& ~ 128 42,000
o = Al 2,000,000& * 32| * 6& 36,000
O AAZ Ot2tHI0l - = HIOHH HE 100,000& * 50 = 57| 25,000
O AAZOIHIOI - Olz=Al2IHA St DA 2 100,000& * 50 * 57| 25,000
O H==ZAstsis AIQAXIS L 29 100,000& * 20 « 57| 10,000
O W==XZ0| e&s0tel XI2A 1,000,000& * 2001 =0tel 20,000
O =2l ¥ J=sgdus 2<% 20,0003 = 200 = 107| 40,000
O GAESEZZIENY & HStZ2 32 20,000,000 * 14! 20,000
O =30l = 10,000,000& * 14 10,000
O Ot Edstseld sy 10,000,000& = 14l 10,000
O 42X gty RR2u=s 10,000,000 » 14 10,000
O H=REUE 23 20,000,000 = 14l 20,000
O =&t JHd 28| &R W= 100,000& * 250 25,000
O HAW 22X Hi2 20| WS (28us 5) 50,000& = 1,000H 50,000
Mets 2etry 222,000 82,000 140,000
201 LEr2dd| 71,000 0 71,000
03 WAI2ZHI 71,000 0 71,000
O M33l G=EUsts=H M 60,000,000& = 14| 60,000
O d3EMsts=H 20 222 WA 2,000& * 5,000% 10,000
O 2009 =B MlStSHA AIAAL &FTH X2 200,000& = 54 1,000
202 O4d| 6,000 3,000 3,000
01 UL 6,000 3,000 3,000
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S - B SR(S0) - MRAEY - BaS Of o o HIDS
O Mgzl d=BHsts=H IO 75,0008 = 108 = 63l 4,500
O M43 dgBdsis=H EFE2 ol 30,0002 * 5& 102 1,500
301 Let2ds 25,000 9,000 16,000
10 HAIABIZ2AE 25,000 9,000 16,000
O Mgzl d=BUSISEM It &dl24 75,0008 * 30F 4« 9,000
O M4zl ddBUSts=M It dU24 16,000,000 * 14 16,000
307 212+l ™ 110,000 60,000 50,000
02 QUIAHHEX 30,000 20,000 10,000
O gdgtg 22218 24 30,000,000& * 12 30,000
04 CQIZtHALE X 80,000 40,000 40,000
O E=gUsiSsEHM Sotel&F AR X 2,500,000& = 4)HE 10,000
O M43 dgBUSIS=MH AAMEX 50,000,000& * 14 50,000
O &= gdsis2A MU HAIEX 10,000,000 * 14 10,000
O gdsts A2 2HAX YIS HAMEX 10,000,000& * 14 10,000
401 Al&ZHIZ LY 10,000 10,000 0
04 SARZAAIZH 10,000 10,000 0
O Mgzl d=BHSIS=M FALX 10,000,000& * 14! 10,000
gdsts UERD 25 58,500 49,050 9,450
201 €Bt=2gH] 50,000 45,000 5,000
01 A2ty 47,000 45,000 2,000
O ggt=EH| 12,000
o JMsts MM S 2,000& = 1,000% » 62l 12,000
O gxz 25,000
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- AHeX= 14 7,000
- HE == 10,000,000& = 14 10,000
- 2&470| 14] 2,000
- AHSAE 14 6,000
O 28+ 10,000
o Hdsts MOIL izl 3,000
— ZAHHI 500,000& * 39H 3,000
o sty HI|2Y 3,000
— ZAHHI 500,000& * 39H 3,000
o BMsIEEos ¥ AR M e 100,000& * 10¥ 4,000
02 2Z2gH 3,000 0 3,000
O H=2BUSIsZAEos 2= 3,000
202 O4d| 4,500 4,050 450
01 UL 4,500 4,050 450
O AtE&E=l, &=, MOILL F40b] 75,0008 * 3H 4,500
301 LetEasg 4,000 0 4,000
10 AIAHIEA S 4,000 0 4,000
O Bdsis)|2 24tgsl 2 §2a FAMHI24 20,0002 = 509 4,000
= HMlat CHHl /=201 Zat 1,212,800 450,580 762,220
ZHat wsE+ &4 1,212,800 450,580 762,220
AFHNSELIAY 358,600 100,580 258,020
201 Ler2g 222,600 60,480 162,120
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o SHSAA R 22Y SAHL W= 70,000& = 3H * 10& * 93 18,900
o AMEIZ0 A 82 A=Y 100,000& * 9F = 13/ 900
03 A2 20,000 0 20,000
O ZOHAEIY JHE(I2LIE) 20,000,000& = 13l 20,000
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O 2A=30 =8 2= alZ3 HE A= 4,000,000& * 109H 40,000
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ANsd wsAd 3,185,965 4,491,875 21,305,910
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201 €BH=gHl 6.815 7,775 A960
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o 0 HA(NSIHIEERHARARS 328) 60,0008 * 15 » 43 240
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SN BASET
HE: OTHSH DS
ool TZHE SHX (c9: A2
SA - FB . GI(EN) - MRAY - B2 0fl &k o o HIRE2
o FHESAMN 2018 2H ALY 10,000,000& = 14 10,000
o ZUNAAMIEAD HIELIAQISE AHAS 10,000,000& = 14l 10,000
O Qe S alths SHAHY 50,000,000 = 14 50,000
O Menstns ALY 35,000,000& * 14l 35,000
Y 2HAH(HMSSD 170,288 321,638 A 151,350
oIz 2 3| 78,824 115, 164 236,340
ol 23| 78,824 115,164 A36,340
101 el24d| 62,364 110,964 A48,600
08 JIEtHSE = 61,219 67,631 26,412
O BHUFA 35,516
o =25 35,222
- 72(M&3J1&) 1,661,600 = 1% » 123 19,940
- 82(788JI&) 1,273,500& 198 » 123 15,282
o A3 294
- 42 35,221,200& * 1/12 = 5/100 * 23] 294
O A2 R+H A2 1,697
SVe= 7,4573 * 18 = 10A12t = 128 895
o 838 6,682 » 198  10AI2t = 123 802
O d%=E 24,006
o &= 20,000& * 2% * 12& 480
o Xt stdl BXxY 206
- S8 51,400% » 18 * 43 206
o AgE XY 2,940
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o HEFIH|
o JIHTIRYI
o eiIIE A
o 2olKaRYI
o APEDLD
o 182¥s
o MEESHD
o LolE)|Quy
CSIP =R

0

140,000& * 1€ » 122
105,000& 1€ » 12&
130,000& * 2H * 123

130,000& * 1€ » 12&
120,000& * 1H » 128
2,935,100 * 60% * 23
2,935,100& » 16.7% » 123

35,221,200 * 1/12 = 1/24 » 11

35,221,200& * 4.5%
35,221,200 = 2.45%
35,221,200& * 0.45%
35,221,200 = 2.46%

863,000& * 4.05%

4,770 » 18 = 20A12F = 123

1,145

4,200

12,260

3,300,000& * 14

80,000& = 55¢&

5,760,000& * 14

4,200

3,300

4,400

5,760

21,200
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| | O TMESIH(HA13Y) 50,0008 * 128 3,000
Jl=2| 91,464 206,474 A115,010
J1=2| 91,464 206,474 A115,010
201 UBrAY 62,474 171,074 A 108,600
01 Al 2| 62,474 63,914 1,440

O UBLAZH| ZHH A 42,314,0008 * 1Al 42,314

O 224l 29 HA 20,160,0002 * 1Al 20, 160
202 01| 28,990 35,400 26,410
01 =2UHoiHl 28,990 35,400 16,410

O BASIEM Ha 28,990,0002 * 1Al 28,990




